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1. Find the form for a particular solution y,(t) for the equation
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2. Use the variation of parameters to find the general solution of y” +y = secx [
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1. A mass weighing 4 b stretches a spring 1.5 in. The mass is given a positive displacement 2 in from its
equilibrium position and released with no initial velocity. Assuming that there is no damping and the
mass is acted on by an external force of 2cos 3t b,

(a) Formulate the initial value problem describing the motion of mass

(b) Solve the initial value problem,

(c) If the given external force is replaced by a fcn ce 4005 wt of ﬁequency w ﬁnd the value of w for which
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Brief table of Laplace transform
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1. Find the Laplace transform of the function f(t) = 2t?¢ % —t +tcost.

2. Find the inverce Laplace transform of the function F(s) =
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Brief table of Laplace transform
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1. Solve the initial value problem

v +2 -3y=1, y(0)=0,4(0)=1

using the Laplace Transform.
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1. Find the Laplace transform of the function -
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(c) f(t)=¢'(t—1)
2. Find the inverse Laplace transform of the function
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1. Find the Laplace transform of the function f(t) = / (t —7)e*dr

9. Find the inverse Laplace transform of the function F(s)

3. Transform the initial value problem
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into a system of first order equation, then in matrix notation




